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| 0. 7457
Here, 5~ = auug ).

(¢)  Suppose b is in AS column space.
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Then Ax=b does not heve au exect sehtion
However, the ' SUD sohhon" x= V¢ UTh
will minimize |[ Ax-b)]\ie, Ax wil

2 a5 close fo b o possible.

A'So known as "Zeasf-s”eres" So/uvlfab\.
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G‘:) Suppwz b s not inA's column Space.
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Then Ax=b does not heve au exect sehtion
However, the ' SUD sohhon" x= V¢ UTh
will minimize |[ Ax-b)]\ie, Ax wil

2 a5 close fo b o possible.

A'So known as "Zeasf-s”eres" Sa/u'ﬁ'ab\.
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Here, as m (i), we compute x = o2 |.

So Ax-b = (;?) (é’)(_i)

l
(,IZ) is  perpencliclar fo A's column
Spoce) tellin ks AX 15 ¢S

clese 4o b as pessiSle,

Observeahatthis vectoris parallelto thelastcolumnof U.
(That directly tells us the vector is perpendicular to A's column space.)
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